

QUOTE PREPARED FOR:

Mann Elem 10435 US HIGHWAY 42 UNION, KY 41091-9528 ACCOUNT NUMBER: 1688230

CONTACT:

Lynn Ledford lynn.ledford@boone.kyschools.us (859) 384-5000

SUBSCRIPTION/DIGITAL CONTACT:

Lynn Ledford lynn.ledford@boone.kyschools.us (859) 384-5000

SALES REP INFORMATION:

Dina Chaffin dina.chaffin@mheducation.com

Section Summary		Value of All Materials	Free Materials	Product Subtotal
WONDERS © 2023, GRADE K (6 Year)		\$44,241.90	(\$22,191.90)	\$22,050.00
WONDERS © 2023, GRADE 1 (6 Year)		\$72,118.08	(\$39,556.98)	\$32,561.10
WONDERS © 2023, GRADE 2 (6 Year)		\$58,052.82	(\$34,019.82)	\$24,033.00
WONDERS © 2023, GRADE 3		\$3,780.00	\$0.00	\$3,780.00
WONDERS © 2023, GRADE 4		\$3,780.00	\$0.00	\$3,780.00
WONDERS © 2023, GRADE 5		\$3,780.00	\$0.00	\$3,780.00
PROFFESIONAL DEVELOPMENT		\$5,000.00	\$0.00	\$5,000.00
	PRODUCT TOTAL*	\$190,752.80	(\$95,768.70)	\$94,984.10
	ESTIMATED S&H**			\$3,857.76
	ESTIMATED TAX**			\$0.00
	GRAND TOTAL*			\$98,841.86

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:	

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE:

08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE K (6 Year)					
WONDERS K SYSTEM 6 YEAR SUBSCRIPTION BUNDLE GRADE K	978-1-26-573786-3	5	\$4,410.00	\$0.00	\$22,050.00
*THE FOLLOWING ITEMS ARE INCLUDED IN THE KINI	DERGARTEN SYS	STEM			
WONDERS READING WRITING COMPANION PACKAGE GRADE K Years 2-6 will ship automatically on the anniversary date of the original order (21 Included)	978-1-26-558525-9				
WONDERS NATIONAL STUDENT WORKSPACE 6 YEAR SUBSCRIPTION GRADE K (21 Included)	978-1-26-586151-3				
WONDERS TEACHER EDITION PACKAGE GRADE K	978-1-26-557378-2			AND PERSONNELS AND COLUMN STATE OF THE PERSONNELS AND THE PERSONNELS A	
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE K	978-1-26-588035-4				
WONDERS LITERATURE BIG BOOK PACKAGE GRADE K	978-0-07-689794-0				
WONDERS DECODABLE READERS PACKAGE 6 EACH OF 10 GRADE K	978-0-07-697730-7				
WONDERS INSTRUCTIONAL ROUTINE HANDBOOK GRADE K-6	978-0-07-697907-3				
WONDERS NATIONAL PRACTICE BOOK GRADE K	978-1-26-579426-2		N. W. H. L.		
WONDERS HIGH FREQUENCY WORD CARDS GRADE K	978-0-02-119290-8				THE PARTY OF THE P
WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6				
WONDERS CENTER ACTIVITY CARDS PACKAGE GRADE K	978-1-26-432748-5				
WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-5	978-0-07-901764-2				
WONDERS LANGUAGE TRANSFERS HANDBOOK	978-0-07-906593-3		NAME OF THE OWNER OF THE OWNER OF THE OWNER.		
WONDERS NATIONAL UNIT ASSESSMENTS GRADE K	978-1-26-569995-6				
WONDERS NATIONAL BENCHMARK ASSESSMENTS GRADE K	978-1-26-571071-2				

MANIPULATIVES (NOT INCLUDED IN THE K SYST	<u>ГЕМ)</u>				
WONDERS NATIONAL ELL TEACHER EDITION GRADE K	978-1-26-577905-4	5	\$99.99	\$499.95	*Free Materials
WONDERS LEVELED READER LESSON CARDS GRADE K	978-0-07-695364-6	5	\$78.03	\$390.15	*Free Materials
WONDERS INTERACTIVE READ ALOUD CARDS GRADE K	978-0-07-683971-1	5	\$158.46	\$792.30	*Free Materials
WONDERS VISUAL VOCABULARY CARDS GRADE K	978-0-02-119368-4	5	\$75.93	\$379.65	*Free Materials
WONDERS GENRE READ ALOUD GRADE K	978-0-07-898219-4	5	\$21.63	\$108.15	*Free Materials
WONDERS RETELLING CARDS GRADE K	978-0-02-119361-5	5	\$313.23	\$1,566.15	*Free Materials
WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	5	\$67.47	\$337.35	*Free Materials
WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	5	\$166.02	\$830.10	*Free Materials
WONDERWORKS LETTER CARDS SMALL GRADE K-2	978-0-02-138718-2	5	\$83.10	\$415.50	*Free Materials
WONDERS READING RESPONSE BOARDS GRADE K-1	978-0-02-119557-2	5	\$109.65	\$548.25	*Free Materials
MANIPUL	\$5,867.55	\$0.00			

READERS

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE:

08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS APPROACHING LEVELED READER PACKAGE 6 OF 30 GRADE K	978-0-07-689726-1	5	\$1,015.50	\$5,077.50	*Free Materials
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE K	978-0-07-689772-8	5	\$1,015.50	\$5,077.50	*Free Materials
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE K	978-0-07-689728-5	5	\$1,015.50	\$5,077.50	*Free Materials
WONDERS ELL LEVELED READER PACKAGE 6 OF 30 GRADE K	978-0-07-689749-0	0	\$1,015.50	\$0.00	*Free Materials
WONDERS CLASSROOM TRADE BOOK LIBRARY PACKAGE GRADE K (1 each of 22 Titles)	978-0-07-690587-4	0	\$303.33	\$0.00	\$0.00
WONDERS CLASSROOM LIBRARY LESSONS GRADE K	978-0-07-686993-0	0	\$128.55	\$0.00	*Free Materials
		READ	ERS Subtotal:	\$15,232.50	\$0.00

		READERS Subtotal:		\$15,232.50	\$0.00	
<u>NEWCOMERS</u>						
WONDERS ENGLISH LEARNERS NEWCOMER TEACHER GUIDE GRADE K-2	978-0-02-131495-9	5	\$111.45	\$557.25	*Free Materials	
WONDERS ENGLISH LEARNERS NEWCOMER CARDS GRADES K-2	978-0-07-680148-0	5	\$106.92	\$534.60	*Free Materials	

NEWCOMERS Subtotal:

\$1,091.85

\$0.00

WONDERS © 2023, GRADE K (6 Year) Subtotal:

\$22,191.90

\$22,050.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE:

08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



Product Description	ISBN	Qtv	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 1 (6 Year)	The last of the la				
STUDENT MATERIALS					
WONDERS COMPREHENSIVE 6 YEAR SUBSCRIPTION BUNDLE GRADE 1 Includes: Reading Writing Companion (Years 2-6 Ship Annually), Literature Anthology, 6 Year Student Workspace Subscription	978-1-26-573807-5	114	\$210.00	\$0.00	\$23,940.00
Literature Antinology, o real olddern workspace odbscription			1		
	STUDI	ENT MATER	IALS Subtotal:	\$0.00	\$23,940.00
BIG BOOKS				70.00	Ψ20,0 το.00
WONDERS LITERATURE BIG BOOKS PACKAGE GRADE 1	978-0-02-119524-4	T 6	\$915.87	\$5,495.22	*Free Materials
	1070 0 02 110024 4		OKS Subtotal:	And the state of t	\$0.00
TEACHER MATERIALS		DIO DO	orto oubtotai.	Ψ3,433.22	φυ.υυ
WONDERS TEACHER EDITION PACKAGE GRADE 1	1070 4 00 557404 0		T #000.00	T 00 700 00	
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR	978-1-26-557491-8	6	\$630.00	\$3,780.00	*Free Materials
SUBSCRIPTION GRADE 1	978-1-26-588236-5	6	\$645.00	\$3,870.00	*Free Materials
WONDERS NATIONAL ELL TEACHER EDITION GRADE 1	978-1-26-578144-6	6	\$99.99	\$599.94	*Free Materials
WONDERS NATIONAL PRACTICE BOOK GRADE 1	978-1-26-579743-0	6	\$39.00	\$234.00	*Free Materials
	TEACH	HER MATER	IALS Subtotal:	\$8,483.94	\$0.00
READERS					
WONDERS DECODABLE READERS PACKAGE 6 EACH OF 6 GRADE 1	978-0-07-697732-1	6	\$421.35	\$0.00	\$2,528.10
WONDERS APPROACHING LEVEL READER PACKAGE 6 OF 30 GRADE 1	978-0-07-689791-9	6	\$1,015.50	\$6,093.00	*Free Materials
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE 1	978-0-07-689774-2	6	\$1,015.50	\$0.00	\$6,093.00
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE 1	978-0-07-689732-2	6	\$1,015.50	\$6,093.00	*Free Materials
WONDERS ELL LEVELED READER PACKAGE 6 OF 30 GRADE 1	978-0-07-689751-3	0	\$1,015.50	\$0.00	*Free Materials
WONDERS CLASSROOM TRADE BOOK LIBRARY GRADE 1 (1 each of 24 Titles)	978-0-07-690588-1	0	\$303.33	\$0.00	\$0.00
WONDERS CLASSROOM LIBRARY LESSONS GRADE 1	978-0-07-686994-7	0	\$128.55	\$0.00	*Free Materials
		READ	ERS Subtotal:	\$12,186.00	\$8,621.10
MANIPULATIVES				. ,	+ -,
WONDERS INSTRUCTIONAL ROUTINE HANDBOOK GRADE K-6	978-0-07-697907-3	6	l \$61.20	\$367.20	*Free Materials
WONDERS TEACHING POSTERS CHART GRADE K-1	978-0-02-119529-9	6	\$73.86	\$443.16	*Free Materials
WONDERS READING RESPONSE BOARDS GRADE K-1	978-0-02-119557-2	6	\$109.65	\$657.90	*Free Materials
WONDERS LEVELED READER LESSON CARDS GRADE 1	978-0-07-695365-3	6	\$78.03	\$468.18	*Free Materials
WONDERS LANGUAGE TRANSFERS HANDBOOK	978-0-07-906593-3	6	\$33.99	\$203.94	*Free Materials
WONDERS CENTER ACTIVITY CARDS PACKAGE GRADE 1	978-1-26-432749-2	6	\$205.11	\$1,230.66	*Free Materials

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 06/27/2022 ACCOUNT NAME: Mann Elem EXPIRATION DATE: 08/11/2022

QUOTE NUMBER: AKING-06272022-010 ACCOUNT #: 1688230 PAGE #: 2



Product Description	ISEN	uly	Unit Price	Free Materials	Line Subtotal
WONDERS GENRE READ ALOUD GRADE 1	978-0-07-898220-0	6	\$52.53	\$315.18	*Free Materials
WONDERS HIGH FREQUENCY WORD CARDS GRADE 1	978-0-02-119558-9	6	\$134.25	\$805.50	*Free Materials
WONDERS INTERACTIVE READ ALOUD CARDS GRADE 1	978-0-07-683974-2	6	\$136.41	\$818.46	*Free Materials
WONDERS RETELLING CARDS GRADE 1	978-0-07-901782-6	6	\$310.20	\$1,861.20	*Free Materials
WONDERS VISUAL VOCABULARY CARDS GRADE 1	978-0-02-119537-4	6	\$75.93	\$455.58	*Free Materials
WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	6	\$67.47	\$404.82	*Free Materials
WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	6	\$166.02	\$996.12	*Free Materials
WONDERWORKS LETTER CARDS SMALL GRADE K-2	978-0-02-138718-2	6	\$83.10	\$498.60	*Free Materials
		MANIPULATI	VES Subtotal:	\$9,526.50	\$0.00
<u>ASSESSMENT</u>					
WONDERS NATIONAL PROGRESS MONITORING ASSESSMENTS GRADE 1	978-1-26-570849-8	6	\$58.50	\$351.00	*Free Materials
WONDERS NATIONAL UNIT ASSESSMENTS GRADE 1	978-1-26-570319-6	6	\$58.50	\$351.00	*Free Materials
WONDERS NATIONAL BENCHMARK ASSESSMENTS GRADE 1	978-1-26-571451-2	6	\$30.00	\$180.00	*Free Materials
WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-5	978-0-07-901764-2	6	\$87.00	\$522.00	*Free Materials
		ASSESSM	ENT Subtotal:	\$1,404.00	\$0.00
<u>NEWCOMERS</u>					
WONDERS ENGLISH LEARNERS NEWCOMER TEACHER GUIDE GRADE K-2	978-0-02-131495-9	6	\$111.45	\$668.70	*Free Materials
WONDERS ENGLISH LEARNERS NEWCOMER CARDS GRADES K-2	978-0-07-680148-0	6	\$106.92	\$641.52	*Free Materials
WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	6	\$191.85	\$1,151.10	*Free Materials
		NEWCOM	ERS Subtotal:	\$2,461.32	\$0.00
	WONDERS © 2023,	GRADE 1 (6 Y	ear) Subtotal:	\$39,556.98	\$32,561.10

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE:

08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 2 (6 Year)	•				
STUDENT MATERIALS					
WONDERS COMPREHENSIVE 6 YEAR SUBSCRIPTION BUNDLE GRADE 2 Includes: Reading Writing Companion (Years 2-6 Ship Annually), Literature Anthology, 6 Year Student Workspace Subscription	978-1-26-573940-9	115	\$156.00	\$0.00	\$17,940.00
	STUDE	NT MATER	RIALS Subtotal:	\$0.00	\$17,940.00
TEACHER MATERIALS					
WONDERS TEACHER EDITION PACKAGE GRADE 2	978-1-26-557679-0	6	T \$630.00	\$3,780.00	*Free Material
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 2	978-1-26-588391-1	6	\$645.00	\$3,870.00	*Free Material
WONDERS NATIONAL ELL TEACHER EDITION GRADE 2	978-1-26-578586-4	6	\$99.99	\$599.94	*Free Material
WONDERS NATIONAL PRACTICE BOOK GRADE 2	978-1-26-580516-6	6	\$39.00	\$234.00	*Free Material
	TEACH	ER MATER	RIALS Subtotal:	\$8,483.94	\$0.00
READERS					
WONDERS DECODABLE READER PACKAGE 6 OF 6 GRADE 2	978-0-07-666171-8	6	\$430.35	\$2,582.10	*Free Material
WONDERS APPROACHING LEVELED READER PACKAGE 6 OF 30 GRADE 2	978-0-07-689758-2	6	\$1,015.50	\$6,093.00	*Free Material
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE 2	978-0-07-689777-3	6	\$1,015.50	\$0.00	\$6,093.00
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE 2	978-0-07-689736-0	6	\$1,015.50	\$6,093.00	*Free Material
WONDERS ELL LEVELED READER PACKAGE 6 OF 30 GRADE 2	978-0-07-689755-1	0	\$1,015.50	\$0.00	*Free Material
WONDERS CLASSROOM TRADE BOOK LIBRARY GRADE 2 (1 each of 24 Titles)	978-0-07-690589-8	0	\$303.33	\$0.00	*Free Material
WONDERS CLASSROOM LIBRARY LESSONS GRADE 2	978-0-07-686995-4	0	\$128.55	\$0.00	*Free Material
		READ	DERS Subtotal:	\$14,768.10	\$6,093.00
MANIPULATIVES					
WONDERS INSTRUCTIONAL ROUTINE HANDBOOK GRADE K-6	978-0-07-697907-3	6	T \$61.20	\$367.20	*Free Material
WONDERS READING RESPONSE BOARDS GRADE 2-6	978-0-02-118963-2	6	\$109.65	\$657.90	*Free Material
WONDERS LEVELED READER LESSON CARDS GRADE 2	978-0-07-695366-0	6	\$78.03	\$468.18	*Free Material
WONDERS LANGUAGE TRANSFERS HANDBOOK	978-0-07-906593-3	6	\$33.99	\$203.94	*Free Material
WONDERS CENTER ACTIVITY CARDS PACKAGE GRADE 2	978-1-26-432750-8	6	\$205.11	\$1,230.66	*Free Material
WONDERS INTERACTIVE READ ALOUD CARDS GRADE 2	978-0-07-683975-9	6	\$136.41	\$818.46	*Free Materia
WONDERS HIGH FREQUENCY WORD CARDS GRADE 2	978-0-02-119022-5	6	\$134.25	\$805.50	*Free Materia
WONDERS VISUAL VOCABULARY CARDS GRADE 2	978-0-07-683976-6	6	\$75.18	\$451.08	*Free Materia
WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	6	\$67.47	\$404.82	*Free Material
WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	6	\$166.02	\$996.12	*Free Materia

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE: 08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERWORKS LETTER CARDS SMALL GRADE K-2	978-0-02-138718-2	6	\$83.10	\$498.60	*Free Materials
		MANIPULAT	IVES Subtotal:	\$6,902.46	\$0.00
<u>ASSESSMENT</u>					
WONDERS NATIONAL PROGRESS MONITORING ASSESSMENTS GRADE 2	978-1-26-570999-0	6	\$58.50	\$351.00	*Free Materials
WONDERS NATIONAL UNIT ASSESSMENTS GRADE 2	978-1-26-570731-6	6	\$58.50	\$351.00	*Free Materials
WONDERS NATIONAL BENCHMARK ASSESSMENTS GRADE 2	978-1-26-455772-1	6	\$30.00	\$180.00	*Free Materials
WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-5	978-0-07-901764-2	6	\$87.00	\$522.00	*Free Materials
		ASSESSN	IENT Subtotal:	\$1,404.00	\$0.00
<u>NEWCOMERS</u>					
WONDERS ENGLISH LEARNERS NEWCOMER TEACHER GUIDE GRADE K-2	978-0-02-131495-9	6	\$111.45	\$668.70	*Free Materials
WONDERS ENGLISH LEARNERS NEWCOMER CARDS GRADES K-2	978-0-07-680148-0	6	\$106.92	\$641.52	*Free Materials
WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	6	\$191.85	\$1,151.10	*Free Materials
		NEWCON	IERS Subtotal:	\$2,461.32	\$0.00
	WONDERS © 2023,	GRADE 2 (6 '	Year) Subtotal:	\$34,019.82	\$24,033.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE:

08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 3					
WONDERS TEACHER EDITION PACKAGE GRADE 3	978-1-26-558160-2	6	\$630.00	\$0.00	\$3,780.00
Print materials will be sent for 1 Year as a FREE PILOT					

WONDERS © 2023, GRADE 3 Subtotal:

\$0.00

\$3,780.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE: 08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 4					
READING WONDERS TEACHER EDITION PACKAGE GRADE 4	978-1-26-558325-5	6	\$630.00	\$0.00	\$3,780.00
Print materials will be sent for 1 Year as a FREE PILOT					
	WONDERS @	2023, GR	ADE 4 Subtotal:	\$0.00	\$3,780.00
WONDERS © 2023, GRADE 5					
READING WONDERS TEACHER EDITION PACKAGE GRADE 5	978-1-26-558496-2	6	\$630.00	\$0.00	\$3,780.00
Print materials will be sent for 1 Year as a FREE PILOT					
	WONDERS (2023, GR	ADE 5 Subtotal:	\$0.00	\$3,780.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE: 08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
PROFFESIONAL DEVELOPMENT					
PROFESSIONAL DEVELOPMENT HALF DAY VIRTUAL TRAINING 2 HOUR SESSION GRADE K-5	978-1-26-437304-8	1	\$1,500.00	\$0.00	\$1,500.00
PROFESSIONAL DEVELOPMENT ONSITE TRAINING K-5	978-1-26-452859-2	1	\$3,500.00	\$0.00	\$3,500.00

PROFFESIONAL DEVELOPMENT Subtotal:

\$0.00

\$5,000.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE:

08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:



QUOTE PREPARED FOR:

Mann Elem 10435 US HIGHWAY 42 UNION, KY 41091-9528 ACCOUNT NUMBER: 1688230

CONTACT:

Lynn Ledford
lynn.ledford@boone.kyschools.us
(859) 384-5000

VALUE OF ALL MATERIALS	\$190,752.80
FREE MATERIALS	(\$95,768.70)
PRODUCT TOTAL*	\$94,984.10
ESTIMATED SHIPPING & HANDLING**	\$3,857.76
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$98,841.86

SUBSCRIPTION/DIGITAL CONTACT:

Lynn Ledford
lynn.ledford@boone.kyschools.us
(859) 384-5000

Comments:
* Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable,

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscribint nerm for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscription.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mheducation.com (

School Purchase Order Number:	New Stational Control of the Control	
Name of School Official (Plea		Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

06/27/2022

ACCOUNT NAME: Mann Elem

EXPIRATION DATE:

08/11/2022

QUOTE NUMBER:

AKING-06272022-010

ACCOUNT #: 1688230

PAGE #:

[&]quot;Snipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

If you are outside the United States and access McGraw Hill products or services serving regions outside the United States, please go to our <u>Terms of Service for International Platforms</u>.

THESE TERMS OF SERVICE, together with the <u>Terms of Use</u> and the <u>Privacy Notice</u>, form a legal agreement (the "Agreement") between McGraw Hill LLC or its applicable subsidiaries or affiliates ("McGraw Hill", "we" or "us") for the Services defined below and the educational institution, company, or organization ("You" or the "Subscriber") entering into this Agreement and identified on the registration page of Your subscription contract for the Services (the "Registration Page"), where applicable. This Agreement also governs Your use of the Solution (as defined below).

These Terms of Service apply after clicking "I accept" in any available checkbox, by placing an order and paying for the Solution, by registering to use and then using the Solution, and/or by executing the Registration Page, where applicable. By accepting these Terms of Service, You affirm that You are at least 18 years of age, that You agree to these Terms of Service, the Terms of Use, and Privacy Notice and You will comply with such terms in connection with Your use of the Solution. You agree that (i) You are an employee, director, or agent of Subscriber; (ii) You have confirmed that Subscriber has agreed to be bound to these Terms of Service, the Terms of Use, and Privacy Notice; and (iii) Subscriber has authorized You to use the Solution on its behalf.

1. THE SOLUTION.

McGraw Hill has developed a web-based solution (the "Solution") that enables users to access certain online products and services ("Services") and related courses, content and information (together with the Services, the "McGraw Hill Content") offered by McGraw Hill through our website (the "Website") by purchasing a subscription. McGraw Hill hereby grants Subscriber a non-exclusive, non-transferable license to access and use the Solution, and allow each administrator, faculty member, and student enrolled by Subscriber (each a designated "End User") to access and use the Solution, through the Website, solely for educational purposes. End Users may access the Solution and the McGraw Hill Content in accordance with an access method offered by McGraw Hill and selected by Subscriber. All End Users other than K-12 students will be required to agree to the Terms of Use in order to access the Solution and the McGraw Hill Content. Payments of applicable fees to McGraw Hill are due within thirty (30) days of the date of invoice unless otherwise agreed to in writing.

2. ADDITIONAL TERMS.

All use of the Solution and McGraw Hill Content is subject to this Agreement and any additional terms agreed to by the parties in connection with the Solution and McGraw Hill Content, including, without limitation, any prohibitions on distribution of the McGraw Hill Content to students or third parties. Subscriber is responsible for its End Users' use of the Solution and the McGraw Hill Content.

3. ADDITIONAL SERVICES.

McGraw Hill may enhance and/or expand the features of the Solution from time to time at no additional cost to Subscriber, or may provide additional content, performance or features that may, but are not required to, be added by Subscriber at additional cost to Subscriber. Any professional services to be provided by McGraw Hill to Subscriber in connection with the Solution shall be set forth in a separate Professional Services Agreement between McGraw Hill and Subscriber.

4. APPLICABLE PRIVACY LAW.

Subscriber is familiar with and agrees to be responsible for compliance with the Children's Online Privacy Protection Act of 1998 ("COPPA"), the Family Educational Rights and Privacy Act and the US Department of Education's implementing regulations at 34 CFR Part 99 (collectively, "FERPA"); and all other applicable country and state laws, rules or regulations concerning the collection, use, and disclosure of Personally Identifiable Information about End Users accessing the Services that are the subject of this Agreement (collectively, "Applicable Privacy Law"). "Personally Identifiable Information", or "PII", shall mean any information relating to an identified or identifiable natural person (a "data subject") including personal data as defined under applicable local law. An identifiable natural person is one who can be identified, directly or indirectly, in particular by reference to an identifier such as a name, an identification number, location data, an online identifier or to one or more factors specific to the physical, physiological, genetic, mental, economic, cultural or social identity of that natural person. McGraw Hill acknowledges that in the course of Subscriber's use of the Services, End Users' Personally Identifiable Information may be disclosed to McGraw Hill. McGraw Hill agrees that it will comply with the requirements of Applicable Privacy Law concerning the confidentiality and release of Personally Identifiable Information. McGraw Hill acknowledges that it will be considered a "School Official" (as that term is used in FERPA) and agrees that it will comply with the requirements in FERPA concerning the confidentiality and release of Personally Identifiable Information. Per such requirements, McGraw Hill agrees that under Applicable Privacy Law, officers, employees, and agents of McGraw Hill who access Personally Identifiable Information may use such data only for the purposes for which such data has been made available to McGraw Hill. McGraw Hill and its contractors, suppliers and licensors shall only use Personally Identifiable Information for the purpose of facilitating the performance, delivery or use of the Services. McGraw Hill shall enable Subscriber to maintain compliance with Applicable Privacy Law in connection with Subscriber's use of the Solution. For further information about McGraw Hill's data privacy and security practices, please read our Privacy Notice.

5. SUBSCRIBER DATA.

All information concerning Subscriber ("Subscriber Data") and Personally Identifiable Information concerning End Users shall belong to Subscriber and shall be considered Confidential Information of Subscriber subject to the terms and conditions of this Agreement. Subscriber assumes sole responsibility for: (a) providing any notices and obtaining any consent needed to the extent required under COPPA or other Applicable Privacy Law in connection with the collection, use and/or disclosure of Personally Identifiable Information from End Users; (b) providing a reasonable means for End Users or End Users' parents, as applicable, to review Personally Identifiable Information provided by End Users to the extent required by COPPA or other Applicable Privacy Law; and (c) establishing and maintaining reasonable procedures to protect the confidentiality, security, and integrity of the Personally Identifiable Information.

6. MCGRAW HILL USE OF SUBSCRIBER DATA.

As a service provider to Subscriber, McGraw Hill will establish and maintain reasonable procedures in accordance with its policies and practices and Applicable Privacy Law to protect the confidentiality, security, and integrity of Personally Identifiable Information and Subscriber Data received by McGraw Hill in connection with provision of the Solution to Subscriber. Subscriber acknowledges and agrees that McGraw Hill has the right to use the Personally Identifiable Information and Subscriber Data collected in connection with provision of the Solution for (a) purposes of performing its obligations under this Agreement, and (b) for research purposes in connection with quality control and the development of revised or new products or services ("Research Purposes"), provided that such Personally Identifiable Information and Subscriber Data will be used by McGraw Hill for Research Purposes only in the aggregate and so that the privacy of the individual's Personally Identifiable Information will be maintained.

7. LOCATION OF SERVICES.

We own, control and operate the Solution from our offices in the United States. We do not represent that materials on the Solution or the Website are appropriate or available for use in other locations. Subscribers who access the Solution from outside the U.S. are responsible for compliance with local laws, if and to the extent local laws are applicable.

8. OWNERSHIP.

No intellectual property rights of any kind are assigned or transferred to Subscriber under this Agreement. Subscriber is permitted to access and use the Solution, McGraw Hill Content and any other materials provided hereunder only as expressly set forth in these Terms of Service. Subscriber is not permitted and shall have no right to use the Solution or McGraw Hill Content for any purpose other than as set forth herein. Subscriber shall not challenge, or assist any person or entity in challenging, McGraw Hill's right, title, and interest in the Solution and McGraw Hill Content.

- A. Before using any content or materials in the Solution or McGraw Hill Content designated as "open", OER, or available for public use, you should review the governing licensing restrictions associated with such content or materials. No rights of any kind are granted by McGraw Hill to use such content or materials outside of the Solution.
- B. If the Solution permits you to upload third-party content for use with your use of the Services granted herein, you represent and warrant that prior to performing any such upload you will secure all necessary rights to grant and will grant McGraw Hill the right to make such third-party content available to End Users in the same manner and to the same extent as the McGraw Hill Content provided in the Solution, and that such third-party content will not infringe any intellectual, proprietary or other rights of third parties. Additional terms and options may be presented through the user upload interface available on the Solution which shall be in addition to, and not in lieu of, these Terms of Service.

9. RESTRICTIONS ON USE.

Subscriber shall not, and shall cause its employees, officers, directors, members, managers, partners, agents, third party service providers, or other designated persons (its "Representatives") not to, take any of the following actions: (a) creating or enabling the creation of derivative works, modifications, or adaptations of the Solution or McGraw Hill Content; (b) decompiling, reverse engineering or disassembling the Solution or McGraw Hill Content, (c) distributing or disclosing the Solution or McGraw Hill Content to third parties; (d) removing or modifying any proprietary marking or restrictive legends placed on the Solution or McGraw Hill Content; or (e) using any robot, spider, other automatic device or program or manual process to monitor, copy or reproduce the Solution or McGraw Hill Content.

10. TERM AND TERMINATION.

This Agreement shall remain in full force and effect unless and until terminated earlier as provided in these Terms of Service. In the event that Subscriber commits a material breach of this Agreement (other than breach of its payment obligations, for which McGraw Hill may terminate this Agreement immediately), McGraw Hill may terminate this Agreement on five (5) business days' prior written notice to Subscriber; provided that Subscriber fails to cure such breach within such five (5) business day period. Subscriber may terminate this Agreement by (a) providing McGraw Hill with no less than thirty (30) days' prior written notice or (b) ceasing all access to the Solution for six (6) months or longer. No sooner than one (1) year after Subscriber accepts these Terms of Service, McGraw Hill may terminate this Agreement on at least sixty (60) days prior written notice.

11. EFFECT OF TERMINATION OR EXPIRATION.

Subscriber's permission to use the Solution and McGraw Hill Content shall end immediately upon any termination or expiration of this Agreement, and Subscriber shall immediately cease any use of the Solution or McGraw Hill Content upon such termination. The following provisions shall survive any termination or expiration of this Agreement: Section 8 ("Ownership"), Section 9 ("Restrictions on Use"), this Section 11 ("Effect of Termination or Expiration"), Section 12 ("Confidentiality"), Section 13 ("Representations and Warranties; Disclaimer"), Section 14 ("Liability"), 15 ("Indemnification") and Section 16 ("Miscellaneous").

12. CONFIDENTIALITY.

The parties acknowledge and agree that, as a result of negotiating, entering into and performing this Agreement, each party (the "Receiving Party") has and will have access to certain confidential information ("Confidential Information") of the other party (the "Disclosing Party"). Personally Identifiable Information of End Users is considered Confidential Information of Subscriber. At all times the Receiving Party shall: (i) use the same standard of care to protect the Confidential Information as it uses to protect its own confidential information of a similar nature, but not less than a commercially reasonable standard of care, (ii) not use the Disclosing Party's Confidential Information other than as necessary to perform its obligations under this Agreement, (iii) not disclose, distribute, or disseminate the Confidential Information to any third party (except to Representatives, as expressly permitted below), and (iv) only disclose the Disclosing Party's Confidential Information to its Representatives on a "need to know" basis; provided that each Representative is bound by confidentiality obligations at least as restrictive as those contained in this Agreement.

13. REPRESENTATIONS AND WARRANTIES; DISCLAIMER.

Each party represents and warrants that this Agreement constitutes its valid and binding obligation and is enforceable against it in accordance with its terms. MCGRAW HILL DOES NOT WARRANT THE COMPLETENESS, ADEQUACY, ACCURACY, OR USEFULNESS OF THE SOLUTION, THE MCGRAW HILL CONTENT OR ANY OTHER MATERIALS PROVIDED HEREUNDER (COLLECTIVELY, THE "MATERIALS"). THE MATERIALS ARE PROVIDED ON AN "AS IS" AND "AS AVAILABLE" BASIS WITH ALL DEFECTS. MCGRAW HILL EXPRESSLY DISCLAIMS ALL WARRANTIES OF ANY KIND, WHETHER EXPRESS OR IMPLIED. INCLUDING, BUT NOT LIMITED TO ANY IMPLIED WARRANTIES OF MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE AND NON-INFRINGEMENT, ERROR-FREE OR UNINTERRUPTED OPERATION AND ANY WARRANTIES ARISING FROM A COURSE OF DEALING OR USAGE OF TRADE. WITHOUT LIMITING THE FOREGOING, MCGRAW HILL MAKES NO WARRANTY THAT (i) THE MATERIALS WILL MEET THE REQUIREMENTS OF SUBSCRIBER, (ii) THE MATERIALS WILL BE UNINTERRUPTED, TIMELY, SECURE, OR ERROR-FREE, (iii) THE RESULTS THAT MAY BE OBTAINED FROM THE USE OF THE MATERIALS WILL BE ACCURATE OR RELIABLE, OR (iv) ANY ERRORS IN THE MATERIALS WILL BE CORRECTED. NO ORAL OR WRITTEN INFORMATION OR COMMUNICATIONS GIVEN BY MCGRAW HILL, ITS EMPLOYEES, OR AGENTS WILL INCREASE THE SCOPE OF THE ABOVE WARRANTY OR CREATE ANY NEW OR ADDITIONAL WARRANTIES. To the extent that McGraw Hill may not as a matter of applicable law disclaim an implied warranty, the scope and duration of such warranty will be the minimum permitted under such law.

14. LIABILITY.

IN NO EVENT SHALL EITHER PARTY BE LIABLE TO THE OTHER PARTY (OR TO ANY OTHER PERSON CLAIMING RIGHTS DERIVED FROM SUCH PARTY'S RIGHTS) FOR CONSEQUENTIAL, INCIDENTAL, SPECIAL, INDIRECT, PUNITIVE OR EXEMPLARY DAMAGES OF ANY KIND INCLUDING BUT NOT LIMITED TO, LOST TIME, LOST MONEY,

LOST DATA, LOST PROFITS OR GOOD WILL, WHETHER IN CONTRACT, TORT, STRICT LIABILITY, NEGLIGENCE OR OTHERWISE, AND WHETHER OR NOT SUCH DAMAGES ARE FORESEEN OR UNFORESEEN WITH RESPECT TO ANY USE OF THE MATERIALS OR OTHERWISE ARISING FROM OR RELATING TO THESE TERMS OF SERVICE AND IN NO EVENT SHALL THE LIABILITY OF MCGRAW HILL OR ITS LICENSORS FOR WHATEVER CAUSE EXCEED THE FEES PAID BY YOU IN CONNECTION WITH YOUR USE OF THE MATERIALS EVEN IF ADVISED OF THE POSSIBILITY OF SUCH DAMAGES. To the extent the foregoing exclusion of liability is not permitted under applicable law, McGraw Hill's liability in such case will be limited to the greatest extent permitted by law.

15. INDEMNIFICATION.

McGraw Hill shall indemnify, defend and hold harmless Subscriber from and against any and all liabilities, losses, damages, costs and expenses, including reasonable attorneys' fees, related to or arising out of any claim by a third party that the technology platform underlying the Solution infringes or misappropriates the intellectual property rights of such third party. To the extent permitted by law, Subscriber shall indemnify, defend and hold harmless McGraw Hill and its parent, affiliates, successors and assigns and their respective officers, employees and agents from and against any and all liabilities, claims, demands, losses, damages, costs and expenses, including reasonable attorneys' fees, related to or arising out of use of the Solution by Subscriber, except to the extent that such claim is subject to indemnification by McGraw Hill hereunder.

16. MISCELLANEOUS.

The Agreement contains the entire understanding of the parties with respect to the subject matter hereof and supersedes all prior agreements and commitments with respect thereto; provided, however, that if Subscriber has entered into a separate written agreement with McGraw Hill regarding the subject matter hereof, that agreement will supersede this Agreement to the extent of any conflict. There are no other oral or written understandings, terms or conditions with respect to the subject matter of the Agreement, and neither party has relied upon any representation, express or implied, not contained in the Agreement. The rights and remedies of the parties are cumulative and not alternative. No waiver of any rights is to be charged against any party unless such waiver is in writing signed by an authorized representative of the party so charged. Neither the failure nor any delay by any party in exercising any right, power, or privilege under the Agreement will operate as a waiver of such right, power, or privilege, and no single or partial exercise of any such right, power, or privilege will preclude any other or further exercise of such right, power, or privilege or the exercise of any other right, power, or privilege. No modification of or amendment to the Agreement will be effective unless in writing signed by authorized representatives of both parties. If any provision of the Agreement is held invalid or unenforceable by any court of competent jurisdiction, the other provisions of the Agreement will remain in full force and effect, and, if legally permitted, such offending provision will be replaced with an enforceable provision that as nearly as possible effects the parties' intent. Subscriber may not assign or otherwise transfer any of its rights or obligations under the Agreement without the prior written consent of McGraw Hill, which consent McGraw Hill may grant or withhold in its sole and absolute discretion. Subject to the foregoing, the Agreement will be binding upon and inure to the benefit of the parties hereto and their permitted successors and assigns. Any purported or attempted assignment or other transfer or delegation in violation of this Section shall be null and void.

McGraw Hill Terms of Use

(Last updated: January 2020)

These terms and conditions (the "Terms of Use") apply to all web sites and applications (collectively, the "Sites") owned and operated by McGraw Hill LLC or one of our affiliated companies ("McGraw Hill" or "us" or "we"). By registering for or otherwise using any of our Sites or Services (as defined below), or accessing any content or material that we make available through the Services or Sites, you agree to these Terms of Use. You may also agree to these Terms of Use by signing or entering into an ordering document with McGraw Hill that incorporates these Terms of Use. These Terms of Use, our Privacy Notice which is hereby incorporated by reference, and any ordering document form a legally binding agreement between you and McGraw Hill (collectively, this "Agreement"). We reserve the right, at our discretion, to change these Terms of Use in the future.

If you do not agree to this Agreement, you may not access or otherwise use the Sites or the Services.

You may use the Services only if you have reached the age of majority or legal age in your jurisdiction (generally 18 or older) and can form legally binding contracts under applicable law. If you are under 18 or the legal age of majority in your jurisdiction, your educational institution, parent, or guardian must agree to these Terms of Use on your behalf.

1. PROPRIETARY SERVICES FOR REGISTERED USERS.

McGraw Hill operates electronic platforms/systems including web and mobile applications that enable students, instructors, and administrators of educational institutions to access and use certain online products and services offered by McGraw Hill (collectively and including any subsequent versions of such platforms/systems and applications, the "Services") through our Sites. The material on our Sites include general non-proprietary information available to all users of our Sites, but in order to access and use the Services you will be required to register on our Sites or through your educational institution. If you register to use the Services on behalf of your educational institution, you will be required to agree to additional terms and conditions in connection with the registration process (the "Terms of Service").

2. USER INFORMATION, COPPA.

During the course of using the Services, we may ask you to share certain personal information in order for us to provide you with the Services. Our Privacy Notice describes our policies around collecting, using, and maintaining the privacy of your personal information. You acknowledge and agree that between you and McGraw Hill, only you are responsible for the accuracy and content of your personal information, and you agree to keep it up to date.

In accordance with the Federal Children's Online Privacy Protection Act of 1998 (COPPA), we will never knowingly solicit, nor will we accept, personally identifiable information from users known to be under thirteen (13) years of age without the consent of their educational institution or the child's parent or guardian. If an educational institution with students that are under thirteen (13) years of age uses our Services, the educational institution may also provide us with personally identifiable information about its students. We use student information to provide the Services to the educational institution and its students, consistent with our Privacy Notice.

3. INTELLECTUAL PROPERTY.

During the applicable term of your subscription for Services, subject to the payment of any fees in any applicable subscription agreement and subject to compliance with these Terms of Use and any other agreement governing your use of the Services, McGraw Hill grants you a limited, non-exclusive and non-transferable license to access and use the Services over the

Internet via the Site provided for the Services for your own internal use for educational purposes only. McGraw Hill is the owner and/or authorized user of all trademarks, logos, service marks and trade names (collectively the "Trademarks") on our Sites and is the owner or licensee of the content and/or information on our Sites. Your use of our Sites does not grant to you a license to any content or materials you may access on our Sites, unless otherwise expressly provided in these Terms of Use or the Terms of Service. You may not use any Trademark displayed on our Sites without our prior written consent or prior written consent of the third-party that owns any other trademarks.

4. ACCESS TO MCGRAW HILL CONTENT.

We may provide you with access to content and information related to the Services (the "McGraw Hill Content"). Your use of McGraw Hill Content is subject to these Terms of Use as well as any additional terms you agree to in connection with such McGraw Hill Content and/or posted on the Site for the McGraw Hill Content, including, without limitation, any prohibitions on distribution of the McGraw Hill Content to students or third parties. You are responsible for maintaining the confidentiality of your password and account and are fully responsible for all activities that occur under your password or account. You may not share or distribute to a third party any screen name or password for accessing the Services or the McGraw Hill Content. You may access and use materials from the Services and/or the McGraw Hill Content only for your own research or study.

5. RESTRICTIONS ON USE.

Only you are to access the Services and/or the McGraw Hill Content using your username or password. If your license includes access to eBooks, during the time you have a valid license you may access your eBook on only one (1) web session if using the McGraw Hill eReader (i.e., no concurrent uses allowed) or two (2) devices if using McGraw Hill's Read Anywhere mobile application. If we have reason to believe you have shared your password information or access to your account or have used the Services in violation of the provisions herein, we may suspend or terminate your account and refuse any and all current or future use of the Services. You agree that you will not otherwise copy, transmit, rent, forward, lend, sell, or modify any materials from the Services and/or the McGraw Hill Content or modify or remove any proprietary notices contained therein, or create or enable the creation of derivative works based thereon. You may not use any robot, spider, other automatic device or program or manual process to access, monitor, copy or reproduce the Services or the McGraw Hill Content. You may not engage in systematic retrieval of content from the Services or the McGraw Hill Content to create or compile, directly or indirectly, a collection, compilation, database or directory. You may not disseminate any portion of the Services or the McGraw Hill Content through electronic means, including mail lists or electronic bulletin boards. You may not reverse engineer the Services, nor circumvent, disable, or otherwise interfere with any technical and/or other limitations, including without limitation security-related features. You acquire no right, title or interest in any McGraw Hill content except for the limited access license granted to you, and McGraw Hill reserves all rights in the McGraw Hill Content.

6. COMMUNICATIONS TO MCGRAW HILL.

Although we encourage you to e-mail us, you should not e-mail us anything that contains confidential information or personally identifiable information. Please refer to the Privacy Notice with regard to how we handle your personal information. By e-mailing us or otherwise providing content to us, or posting content to the Sites or the Services including but not limited to feedback, questions, comments, suggestions, and the like (collectively, "User Content"), you agree to be bound by our User Content Submission Agreement and we may use any non-personally identifiable ideas, concepts, know-how, or techniques contained in your

communications for any purpose whatsoever, including but not limited to, the development, production and marketing of products and services that incorporate such information. You own the rights to anything you post to the Sites or the Services, including text and photographs. You do, however, grant us an irrevocable, non-exclusive, worldwide, perpetual, royalty-free license to use, modify, copy, distribute, publish, perform, sublicense, and create derivative works from all non-personally identifiable submissions you provide to us, in any media now known or hereafter devised.

The Site or Services may permit you to upload third-party content for use with the Site or Services ("Service Uploads"). You represent and warrant that prior to providing any upload you will have all necessary rights to provide the Service Uploads, and that your Service Uploads will not infringe any third-party rights, including any intellectual property or proprietary rights. You grant McGraw Hill the right to make your Service Uploads available to licensed end users in the same manner and to the same extent as the McGraw Hill Content provided in the applicable Service. Additional terms and options for Service Uploads may be presented through the applicable upload interface available on the Site offering the Service which shall be in addition to, and not instead of, these Terms of Use.

7. COMMUNITY GUIDELINES.

In using the Sites or Services, you agree you will not: (a) submit material that is unlawful, obscene, lewd, defamatory, libelous, threatening, pornographic, harassing, hateful, racially or ethnically offensive, excessively violent, or encourages conduct that would be considered a criminal offense, give rise to civil liability, violate any law, or is otherwise inappropriate or objectionable; (b) post advertisements or solicitations of business; (c) impersonate another person; (d) submit material that is copyrighted, protected by trade secret or otherwise subject to third party intellectual property or proprietary rights, including privacy and publicity rights, unless you are the owner of such rights or have permission from their rightful owner to post the material and to grant McGraw Hill all of the license rights granted herein; (e) submit material that is unsuitable for minors in any country; or (f) submit material that is malicious or destructive in nature, or contain a virus or other computer programming routine or engine that is intended to damage or otherwise interfere with any system, data, or information. McGraw Hill does not and cannot review all User Content or Service Uploads and is not in any manner responsible for such content. McGraw Hill reserves the right, but has no obligation, to refuse to post, block or remove communications or materials for any reason in its sole discretion. McGraw Hill may terminate your access to our Sites and/or the Services to prevent further posting or distribution of any communications or materials, and McGraw Hill may, but is not obligated to, report any of your communications or materials to your educational institution.

8. NO WARRANTIES.

WE AND OUR LICENSORS AND SERVICE PROVIDERS MAKE NO WARRANTIES OR REPRESENTATIONS ABOUT THE CONTENTS OF OUR SITES, MCGRAW HILL CONTENT OR THE SERVICES. WE SHALL NOT BE SUBJECT TO LIABILITY FOR ANY DELAYS OR INTERRUPTIONS OF OUR SITES OR THE SERVICES FROM WHATEVER CAUSE. YOU AGREE THAT YOU USE THE SITES, THE MCGRAW HILL CONTENT, AND THE SERVICES AT YOUR OWN RISK. OUR SITES, MCGRAW HILL CONTENT AND THE SERVICES MAY CONTAIN TECHNICAL INACCURACIES OR TYPOGRAPHICAL ERRORS OR OMISSIONS. MCGRAW HILL IS NOT RESPONSIBLE FOR ANY SUCH TYPOGRAPHICAL OR TECHNICAL ERRORS. MCGRAW HILL RESERVES THE RIGHT TO MAKE CHANGES, CORRECTIONS, AND/OR IMPROVEMENTS TO OUR SITES, MCGRAW HILL CONTENT AND THE SERVICES AT ANY TIME WITHOUT NOTICE.

9. EXTERNAL WEBSITES.

Our Sites may contain links to third-party applications or websites ("External Websites"). These links are provided only as a convenience to you and not as an endorsement by us of the content on such External Websites. When you access an External Website, McGraw Hill has no control over its content, applications, or services. We do not make any representations regarding the accuracy, quality, or accessibility of any External Website or its content or materials. McGraw Hill disclaims all liability for any errors, omissions, violation of third-party rights or illegal conduct arising from such External Websites.

10. INDEMNIFICATION.

You agree to defend, indemnify, and hold harmless McGraw Hill and our officers, directors, employees, successors, licensors, service providers, and assignees from and against any claims, actions, demands, liabilities, losses, damages, costs and expenses including, without limitation, reasonable legal and accounting fees, arising from or relating to your breach of this Agreement or your access to, use, or misuse of the McGraw Hill Content, our Sites, or the Services. We shall provide notice to you of any such claim, suit, or proceeding and shall assist you, at your expense, in defending any such claim, suit, or proceeding. We reserve the right to assume the exclusive defense and control of any matter that is subject to indemnification under this section. In such case, you agree to cooperate with any reasonable requests assisting our defense of such matter.

11. LIABILITY.

IN NO EVENT WILL MCGRAW HILL OR ITS LICENSORS OR SERVICE PROVIDERS BE LIABLE FOR ANY CONSEQUENTIAL, INCIDENTAL, SPECIAL, INDIRECT, PUNITIVE OR EXEMPLARY DAMAGES OF ANY KIND, INCLUDING BUT NOT LIMITED TO, LOST TIME, LOST MONEY, LOST DATA, LOST PROFITS OR GOOD WILL, WHETHER IN CONTRACT, TORT, STRICT LIABILITY, NEGLIGENCE OR OTHERWISE, AND WHETHER OR NOT SUCH DAMAGES ARE FORESEEN OR UNFORESEEN WITH RESPECT TO ANY USE OF THE MCGRAW HILL CONTENT, SITES, THE SERVICES, OR OTHERWISE ARISING FROM OR RELATING TO THESE TERMS OF USE AND IN NO EVENT SHALL THE LIABILITY OF MCGRAW HILL OR ITS LICENSORS FOR WHATEVER CAUSE EXCEED THE FEES PAID BY YOU IN CONNECTION WITH YOUR USE OF THE MCGRAW HILL CONTENT, THE SITES, OR THE SERVICES, EVEN IF ADVISED OF THE POSSIBILITY OF SUCH DAMAGES. TO THE EXTENT THE FOREGOING EXCLUSION OF LIABILITY IS NOT PERMITTED UNDER APPLICABLE LAW, MCGRAW HILL'S LIABILITY IN SUCH CASE WILL BE LIMITED TO THE GREATEST EXTENT PERMITTED BY LAW.

12. INFRINGEMENT NOTIFICATION.

We respect the intellectual property rights of others, and require that the people who use our Sites do the same. If you believe that your work has been copied in a way that constitutes copyright infringement, please send notifications of the claimed infringement to: Legal Department, McGraw Hill, 2 Penn Plaza, New York 10121. Notices of the claimed infringement should include the following information: (a) your address, telephone number, and email address; (b) a description of the copyrighted work that you claim has been infringed; (c) a description of where the alleged infringing material is located, with a link if possible; (d) a statement by you that you have a good faith belief that the disputed use is not authorized by the copyright owner, its agent, or the law; (e) an electronic or physical signature of the person authorized to act on behalf of the owner of the copyright interest; (f) a statement by you, made under penalty of perjury, that the above information in your notice is accurate and that you are the copyright owner or authorized to act on the copyright owner's behalf.

13. COMPLIANCE WITH APPLICABLE LAWS.

We control and operate our Sites from our offices in the United States of America. We do not represent that materials on our Sites are appropriate or available for use in other locations. Persons who choose to access our Sites from other locations do so on their own initiative, and are responsible for compliance with local laws, if and to the extent local laws are applicable. All parties to these terms and conditions waive their respective rights to a trial by jury.

14. TERMINATION OF THE AGREEMENT.

We reserve the right in our sole discretion, to restrict, suspend, or terminate your use or access to any of the Services, McGraw Hill Content, and/or our Sites and/or discontinue any portion, feature, or content of the Services, McGraw Hill Content, our Sites, or this Agreement at any time and for any reason without prior notice or liability. If you violate these Terms of Use McGraw Hill may, but is not obligated to, report any such violation of these Terms of Use to your educational institution. When reasonably feasible, we will make reasonable efforts to provide notice of significant changes to the Services to end users with active licenses to use the Services.

15. MISCELLANEOUS.

If any provision of this Agreement is found to be invalid by any court having competent jurisdiction or terminated in accordance with the "Termination of the Agreement" provision above, the invalidity or termination of such provision shall not affect the validity of the following provisions of this Agreement, which shall remain in full force and effect: "Intellectual Property," "Communications to McGraw Hill," "No Warranties," "Indemnification," "Liability," "Compliance With Applicable Laws," "Termination of the Agreement," and "Miscellaneous." Our failure to act on or enforce any provision of this Agreement shall not be construed as a waiver of that provision or any other provision in this Agreement. No waiver shall be effective against us unless made in writing, and no such waiver shall be construed as a waiver in any other or subsequent instance. Except as expressly agreed by us and you in writing, this Agreement constitutes the entire Agreement between you and us with respect to the subject matter, and supersedes all previous or contemporaneous agreements, whether written or oral, between the parties with respect to the subject matter. The section headings are provided merely for convenience and shall not be given any legal import. This Agreement will inure to the benefit of our successors, assigns, licensees, and sublicensees.